alpha

t, alpha , beta, delta , gamma,k1):

taty)

1)

. args=(alpha, beta , delta, gamma, k1))

Av BaAoupe otn cuvaptnon k>y/8 €xoupe ta akolouBa daypappata :

BnpeuTEg Kol OnpduaTa MAnBuopudc
1. /o [07,12] 4 [— [0.7.12]
f [0.8, 1.1] I (0.8, 1.1]
| —— [0.6, 0.3] — [0.6, 0.3]
' — [0.3,0.3] — [0.3,0.3]
g (1011 | 3] [0.1,0.1]
& 2
&
1 4
D.
o 1 2 0 5 10 15
npapata ¥pdvog




Evw ywa k>y/6 1 k=y/6 maipvoupse :

GnpeUTEG KoL OnpdpaTa MAnBuopog
12 1 — [07.12] 12 J — [0.7.1.2]
[0.8, 1.1] — '. [0.8, 1.1]
10— [0&03] / 104" — [0.6, 0.3]
= [0.3, 0.3] — [0.3, 0.3]
— [0.1, 0.1] — [0.1, 0.1]
05 - 0.5 -
E [0.6,0.1] E [0.6, D.1]
B H 06 -
& q

04 4

02 4

0.0 4

T T
0.2 04 06 0a
EnpapoTa




